AIRTEC 3%

M OTORSUPORT

Please note:
Use this template as a guide only.
We will not take any responsibility for miss drilled holes.

6 x M6 X 16 button head
4 x MK6 X 12 button head
2 x M6 X 20 button head
16 x M6 pan washer

8x M6 nylock nuts

Left Hand Side


Left Hand Side




